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1. ` 6000 lent out for 
1

1
2

years at rate of 10% per

annum of compound interest. Then find inter-

est if interest is compounded half yearly?

` 6000
1

1
2

10%

(A) ` 954.75 (B) ` 945.57

(C) ` 945.75 (D) ` 954.57

2. A bank offers 5% per annum compound in-

terest calculated on half-yearly basis. A cus-

tomer deposit Rs. 1600 each on 1st January

and 1st July of a year. At the end of the year,

the amount he would have gained by way of

interest is how much?

5%

` 1600

1 1

(A) ` 120 (B) ` 121

(C) ` 123 (D) ` 122

3. Find the C.I. of ` 7500 at 4% for 1 year. If the

interest compounded half yearly ?

` 7500 4% 1 

(A) ` 404 (B) ` 303

(C) ` 300 (D) ` 400

4. Find the compound interest on ` 8000 at rate

of 8% per annum for 2 years, compounded

half-yearly?

` 8000 8% 

(A) ` 1318.40 (B) ` 1358.40

(C) ` 1348.40 (D) ` 1368.40

5. What is the compound interest (in `) on a sum

of `8192 for 1(¼) years at 15% per annum, if

interest is compounded 5-monthly.

`8192 1(¼)  15% 

 (`  )  5 

(A) 1634 (B) 1740

(C) 1735 (D) 1640

Comopund interest (Type-3,4)
6. Alisha invested ̀  10,000 at rate of interest 20%

per annum. The interest was compounded

yearly for the first two years and in the third

year it was compounded half yearly. What will

be the total interest earned at the end of the

third year?

20% ` 10,000 

(A) ` 7624 (B) ` 7124

(C) ` 7424 (D) ` 7724

7. A sum of ` 3,200 invested at rate of 10% per

annum compounded quarterly becomes `
3,362. Accordingly find time for which it is in-

vested?

` 3,200 10% 

` 3,362 

(A) 
1

2
years / (B) 1  years / 

(C) 2   years / (D) 
3

4
 years/ 

8. A sum is invested for 2 years at compound

interest at rate of 10% per annum and interest

is compounded annually. Amount received is

12,100. Find the sum?

10%

12,100

(A) `  12,000 (B) `  6,000

(C) `  8,000 (D) `  10,000

9. What will be the CI of ` 12000 at rate of 20%

per annum for 9 months if interest is com-

pounded quarterly—

` 12000 20% 9

(A) ` 1891.50 (B) ` 2089.70

(C) ` 2136 (D) ` 1750
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10. Find rate percent per annum if ` 2000

amounts to ` 2315.25 in 
1

1
2

years and inter-

est is compounded half yearly?

2000
1

1
2

`2315.25

(A) 10% (B) 11.5%

(C) 5% (D) 20%

11. If interest is compounded half yearly, then in

what time ` 80,000 will become ` 92,610 at

rate of 10% per annum?

` 80,000 

10% 

`92,610 

(A) 
1

1
2

 year / (B) year / 

(C) 
1

2
2

 year / (D) year / 

12. A bank offers 5% compound interest per half

year. A customer deposits ` 3200 each on 1st

January and 1st July of a year. At the end of

the year, the amount he would have gained

by way of interest is—

5% 

`

(A) ` 976 (B) ` 244

(C) ` 488 (D) ` 122

13. At what rate percent per annum will ` 7200

amount to ` 7938 in 1 year, if interest is com-

pounded half yearly?

` 7200

 ` 7938 

(A) 5 (B) 8

(C) 12 (D) 10

14. If interest is calculated half yearly on ` 10,000

at compound interest rate of 4% per annum,

then what will be the interest after 2 years ?

` 4% 

(A) ` 636.80 (B) ` 824.32

(C) ` 912.86 (D) ` 828.82

15. In what time, ` 64000 will become ` 68921 at
5% annual interest rate. If interest is com-
pounded half yearly?

64000, 5% 68921

(A) 
1

1
2

year (B) 2 year

(C) 3 year (D) 
1

2
2

year

16. What is the compound interest on a sum of

`37500 for 
1

1
3

 years at a rate of 12% p.a. if

the interest is compounded 8 - monthly ?

` 37500  12% 

1
1

3
 8 

(A) ` 6440 (B) ` 6240
(C) ` 6420 (D) ` 6448

17. Two equal sums are lent at 10% and 8% simple
interest p.a. respectively, at the same time.
The first sum is received 2 years earlier than
the second one and the amount received in
each case was ` 36,900. Each sum was .......

10% 8%

2 

` 36,900

(A) ` 20,500 (B) ` 20,200
(C) ` 18,100 (D) ` 21,500

18. On what sum of money, the interest for one
year at 12% p.a. compounded half yearly is
`1,545?

12% 

` 1545 

(A) ` 25,750 (B) ` 24.300
(C) ` 12,875 (D) ` 12,500

19. A sum of Rs. 8,000 invested at 10% p.a. amount
of Rs. 9,261 in a certain time, interest com-
pounded half-yearly. What will be the com-
pound interest (in Rs.) on the same sum for
the same time at double the earlier rate of in-
terest, when interest is compounded annully ?

10% 8,000 

9,261

(A) Rs. 2,520 (B) Rs. 2,480
(C) Rs. 2,560 (D) Rs. 2,500



Mother's Arithmetic • Compound Interest

33MATHS (SSC, CDS, Railway) "MATHS With PAWAN RAO" 

20. The compound interest on a sum of ` 5,500 at

15% p.a. for 2 years, when the interest is com-

pounded 8 monthly, is:

` 5500 15% 2

8

(A) ` 1,850 (B) ` 1,880

(C) ` 1,773.75 (D) ` 1,820.50

21. The simple interest earned on a certain sum

of money in 
1

3
2

 years is ` 2,940, at the rate of

10% per annum. If the interest is calculated

on compound half yearly basis, then find the

compound interest (in `) received on the same

amount in 
1

1
2

 year at the same rate of inter-

est. (rounded off to the nearest rupee)

 10%  
1

3
2

 

` 2,940 

1
1

2
 

(` ) 

(A) 1,324 (B) 1,564

(C) 1,470 (D) 1,125

Type 4

22. What is the difference (in ` ) between the com-

pound interests on ` 12,500 for 1 year at 8%

per annum compounded yearly and half-

yearly?

` 12,500 8% 

(A) 16 (B) 25

(C) 20 (D) 40

23. What is the difference between compound in-

terest on ` 15,000 for 9 months at 16% per

annum accordingly as the interest is com-

pounded half-yearly and quarterly?

` 15,000 9 16% 

(A) ` 20.80 (B) ` 24.56

(C) ` 24.96 (D) ` 21.84

24. What is the difference between compound in-

terest on ` 5000 for 1.5 years at 4% per an-

num  accordingly as the interest is com-

pounded yearly and half yearly?

1.5 ` 5000  4% 

(A) ` 2.16 (B) ` 2.04

(C) ` 2.60 (D) ` 2.80

25. Sum invested in scheme A, which offers com-

pound interest (compounded annually) at 10%

p.a., is 50% of that in scheme B, which offers

compound interest (compounded annually) at

20% p.a. The duration of investment in each

of the schemes is 2 years. If the difference be-

tween the amounts received from schemes A

and B is Rs. 3507, what is the sum invested

in scheme B? (in rupees).

A 10%

B 20%

50% 2 A

B ` 3507 B

` 

(A) ` 4500 (B) ` 4200

(C) ` 4250 (D) ` 4400
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26. A give some amount to person B at 10% per

annum for one year , B gives the same amount

to the bank at 20% per annum compounded

half yearly. If bank distribute the same amount

in ratio 2 : 3 to C and D respectively at 25%

per annum. If in this transaction Bank earns

a profit of ` 2640. Then what is the amount

invested by A?[Time = 1 year]

A B 10% 

B 20% 

C D 2 :

3 25% 

` 2640 A 

( = 1 )

(A) ` 70000 (B) ` 60000

(C) ` 62000 (D) ` 66000

27. What is the difference (in Rs) in Compound

interest earned in 1 year on a sum of Rs 25,000

at 20% per annum compounded semi-annu-

ally and annually?

25,000 20% 

(A) 125 (B) 250

(C) 500 (D) 375

28. Difference between CI compounded half yearly

and SI of 1 year on a sum is ` 180. If rate of

interest is 10% per annum in both cases, then

what is the original sum?

` 

10% 

(A) ` 60,000 (B) ` 72,000

(C) ` 62,000 (D) ` 54,000

29. The sum of money which is given on compound

interest at 18% per annum would fetch ` 960

more when the interest is payable half yearly

than when it was payable annually for 2 years.

Find the sum?

18% 2 

` 960 

(A) ` 50000 (B) ` 40000

(C) ` 60000 (D) ` 30000

30. CI of ` 482 more can be received on a sum

lent at rate of 20% per annum for 2 years if

the interest is compounded half yearly. Find

the sum?

20% 

` 482 

(A) ` 10000 (B) ` 20000

(C) ` 30000 (D) ` 40000

31. A princess deposits some money in PNB bank

at rate of 10% per annum and she hopes that

bank will give some rupees in form of inter-

est. Bank lends the same money to a com-

pany at rate of 12% per annum and interest is

calculated half yearly. After 1 year bank pays

interest to princess and bank earns a profit of

` 1888. How much money is deposited by prin-

cess in the bank?

PNB 10%

12%

`1888

(A) ` 96,000 (B) ` 68,000

(C) ` 80,000 (D) ` 88,000

32. If a principal P becomes Q in 2 years when

compound interest rate R% is compounded

half-yearsly. And if the same principal P be-

come, Q in 2 years when interest rate S% is

compound annually, then which of the follow-

ing is true ?

2 R% P Q 

S%

P, Q 

(A) R > S (B) R = S

(C) R < S (D) R  S

33. An amount was lent for two years at the rate

of 20% per annum compounding annually. Had

the compounding been done half yearly, the

interest would have increased by 241. What

was the amount (in Rs) lent?
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(A) 10000 (B) 12000

(C) 20000 (D) 24000

34. An amount was lent for one year at the rate of

10% per annum compounding annually had

the compounding been done half yearly, the

interest would have increased by 80. What was

the amount (in Rs) lent?

(A) 16000 (B) 32000

(C) 48000 (D) 64000

35. An amount was lent for one year at the rate of

18% per annum compounding annually. Had

the compounding been done half yearly, the

interest would have increased by 324. What

was the amount (in Rs) lent?

(A) 32000 (B) 36000

(C) 40000 (D) 72000

36. ` 4,000 is given at 5% per annum for one year and
interest is compounded half yearly. ` 2000 is given
at 40% per annum compounded quarterly for 1
year. The total interest received is nearest to :

` 4,000 5% 

` 2000 40% 

(A) ` 1,444.40 (B) ` 1,888.80

(C) ` 1,130.70 (D) ` 1,333.30
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Solution

1. (C) Time (t) =
1

1
2

years

Rate = 10%
If interest is payable halfyearly

Then Rate = 5%,

     and t =
3

2
× 2 = 3 half years

Compound interest of 3 years
= 15.7625% of Principal

= 
6000 15.7625

100


= ` 945.75

2. (B) Rate of interest = 2.5% per half year

Interest on amount deposited on January 1

First half year =
1600 2.5

100

= Rs.40

Second half year =
1640 25

100

= Rs. 41

Interest on amount deposited on July 1

= Rs. 40

 Total compound interest

= Rs.(40 + 41 + 40)

= Rs.121

3. (B) At half yearly 

Rate = 
4

2
 = 2%

Time = 1 × 2 = 2 half years
R

eff.
 for CI = 4.04%

P = ` 7500

So,  CI = 7500 × 
4.04

100
 = ` 303

4. (B) Principal = ` 8000
At half yearly 

Rate = 
8

2
 = 4%

Time = 2 × 2 = 4 Half year
So, Reff for CI = 16.98%

So, CI = 
16.98

8000
100

 = 
6792

5
 = ` 1358.40

5. (A) P = ̀  8192

T = 
1

1
4

 year = 12 + 
12

4
 = 15  months

R = 15

For compounded 5 months

R = 
15

12
 × 5 = 

5

4
 × 5% = 

25%

4

= 
25

4
 × 

1

100
 = 

1

16

T = 3 year

C.I.          Ist            512

                  IInd           512       32

                 IIIrd           512       32    32    2

Total C.I. = 1536 + 64 + 34 = 1634

6. (C) R = 20%, 20%, 10%, 10%

               

           44%            21%

10,000 × 
144

100
 = 14400

14400 × 
121

100
 = 17424

             C.I. = 17424 – 10,000 = 7,424

7. (A) Interest payable quarterly

R = 
10 5

%
4 2


Time = 4T

Amount = Principal × 

4T
R

1
100

 3362 = 3200 

4
102.5

100

 
 
 

T


3362

3200
=

4
41

40

T


1681

1600
=

4T
41

40

 
 
 


2

41

40

 
 
 

=

4T
41

40

 
 
 

 4T = 2yrs.

 T =
2 1

4 2
 yrs.

8. (D) Accordingly to question–
Time = 2 years  Rate = 10%

Amount = Principal × 1
100

Time
R
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 12100 =

2
110

P
100

 
 
  

 12100 = P × 
121

100

 P = ` 10,000
9. (A) When interest is compounded quarterly, then

Time = 9 months  9months× 4 = 36 months

Rate = 20%   
20

4
 = 5%

Accordingly to question

Compound interest = 12000× 

3
105

100

 
  
 

 – 12000

= 12000× 

3
21

20

 
  
 

 – 12000

= 
12

8
× 21× 21×21 – 12000 = 13891.5 – 12000

= `1891.5
Second method :—
R = 5%, Time = 3 years P = 12000
Compound Interest
12000 × 5% =600 × 3 = 1800
600 × 5% = 30 × 3 = 90
30 × 5% = 1.5 × 1 = 1.5

  Total C.I. = 1800   + 90 + 1.5 =  1891.50
10. (A) Let rate = 2R%

When interest compounded half yearly

Rate = 2R   R%

Time 
3

2
year  3 years

Accordingly to question–

2315.25

2000
=

3
R

1
100

 
 

  


231525

200000
=

3
R

1
100

 
 

  


9261

8000
=

3
R

1
100

 
 

  



3
21

20

 
 
  

=

3
R

1
3

 
 

  


21

1
20

 =
R

100
 R =5 %

So, 2R = 10%
11. (A)   Interest payable half yearly

So, Rate =
10

5%
2
 ;         Time = 2T Years

Amount = Principal × 1
100

Time
R


92610

80,000
=

2
5

1
100

T


3

21

20
=

2
105

100

T


3

21

20
=

2
21

20

T

 2T = 3yrs.

 T =
3 1

1
2 2
 yrs.

12. (C) Required interest =

105 105
3200 3200

100 100
+ 

2 4 4
1 0 0

0 .7 6 2 5

= (328 + 160) = ` 488

13. (D) P = 7200

R = 
r

2

T = 2 × T = 2yr.

A = 7935

7938 = 7200

2
r

1
2 100

       
3969

3600
  = 

2
r

1
200

        
63

60
 = 1 + 

r

200

       
r

200
 = 

3

60

            r =  
600

60
 = 10%

14. (B) Rate at half yearly (R) = 
4%

2%
2



Time = 2 × 2 = 4 years
Interest 10,000 × 2% = 200 × 4 =  800

200 × 2% = 4 × 6 = 24
 4 × 2% = .08 × 4 = 0.32
 .08 × 2% = .0016 × 1 = .0016
 Total Interest =800 + 24 + 0.32+.0016

= 824.3216
15. (A) When interest compounded half yearly

Rate 5% 
5

%
2

Time = T  2T years

Accordingly to question–
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68921

64000
=

2T
5

1
200

 
 

  


68921

64000
=

2 T
41

40

 
  
 


3

41

40

 
  
 

=

2 T
41

40

 
  
 

 2T = 3

 T = 1
1

2
years

16. (B)
1

1
3

 years 16 months

12% PA8% per 8 months

Effective C.I.% = 16.64%

P A

Interest = 37500 × 16.64%  = ̀  6240

17. (A)  Both principal is equal and both amount

is equal

Let Principal = ` P

Time = t years

ATQ, P + 
P 10 t

100
=

P 8 t 2
P

100

t = 8 years

So, P +
10 8

1
100

= 36900

= P × 
180

100
 × 36900

P = ` 20,500

18. (D) R = 
12

2
 = 6%          = 

6 3

100 50

Using CI concept
P A

For Ist Year 50 53
For IInd year 502 532

2500 2809
CI = 2809 – 2500 = 309

= P = 
1545

2500
309

= 5 × 2500
= ` 12500

19. (C) P = 800, T = 3/2 years, R = 20%

A = 8000 × 
6

5
 × 

11

10

A = Rs. 10560

C.I. = Rs. 2560

20. (D) P = ` 5500

R = 15%
T = 2 year
CI = ?

10% 10% 10%

8m 8m 8m

103    :  113

1000 : 1331
1000  5500
1  5.5
CI = 1331 × 5.5
= 1820.50

21.(A) R = 10

T = 
1

3
2

 year

S.I. = 2940

S.I. = 
7

2
× 10 = 35%

P = 
2940

70
 × 2 × 100  = ` 8400

New Half year

R = 10%   R = 
10

2
 = 5%

P = 8400

T = 
1

1
2

 yr.    T = 
3

2
 × 2 = 3 year

C.I. for 3 years = 15.7625

C.I. = 
8400 15.7625

100
 = 1324.05

22. (C) For annualy 1 year CI % = 8

For half yearly 1 year CI% = 4%

So 2 year CI% = 8.16

CI – SI = 125000  × 
.16

100
= 20

23. (C) Half yearly  8% + 4% + 
8 4

100
%  12.32%

Q.T. 4%, 4%, 4%        12.4864%

Diff.  0.1664%  
0.1664

100
 × 1500  ̀ 24.96

24. (B) Compounded yearly
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4 + 2 + 
4 2

100
%  6.08%

Half yearly   6.1208%

Diff.  0.0408%  
0.0408

100
 × 500  ̀ 2.04

25. (B) Let the investment in scheme B be Rs. x.

Investment in scheme A = Rs.
x

2

According to the question,

A = P

T
R

1
100


2

20
x 1

100
– 

x

2

2

10
1

100

= 3507

x × 

2

6

5
– 

x

2
×

2

11

10

= 3507


36x 121x

25 200
= 3507


288x 121x

200
= 3507

 167x = 3507 × 200

 x =
3507 200

167

= Rs. 4200

26. (D) Let the principal given by A to B = 100P

R = 10%

T = 1year

Amount which B has to pay

= 100P
r

1
100

=

100P(1 + 10/100) = 110P

Now, B gives it to a bank

Principal = 100P

R = 20%

But it is compounded half yearly.

R
1
 = (20/2)% = 10%

T
1
= 2T = 2 × 1 = 2

Amount which bank has to refund to B

= 100P(1 + 10/100) = 121P

Bank distribute the Principal amount to C

and D in

ratio = 2 : 3

Share of C = (100P/5) × 2 = 40P

Share of D = (100P/5) × 3 = 60P

R = 25%

T = 1 year

Amount to be returned by C = 40P(1 +25/

100) = 50P

Amount to be returned by D = 60P(1 +25/

100) = 75P

Amount received by bank = 125P

Profit of bank = Amount received by bank -

Amount

which bank has to refund to B

= 125P – 121P = 4P

Profit of bank = Rs 2640[Given]

4P = 2640

P = 660

Amount invested by A

= 100P = 100*660 = Rs 66000

27. (B) Effective Rate for half year

R = 10%

Effective rate = 10 + 10 + 
10 10

100
 = 21%

Difference = 21% – 20% = 1%

  = 25000×
1

100
= 250

28. (B) Interest paid half yearly then rate = 
10

5%
2


Compound interest of first year

= 
5 5

5 5
100


  = 10.25%

Simple interest of first year annually = 10%

Difference =10.25 – 10 = 0.25%

 Sum (100%) =
180

100
0.25

  = ` 72,000

29. (A) R = 18%; t = 2 years

So, R
eff.

 = 39.24%

R = 9%; t = 4 years
So,  R

eff.
 = 41.15%

Diff. in rates = 1.9%
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So,  sum = 
960

1.91
× 100 = ` 50000

30. (B) R
eff.

 for two years interest based annually com-
pounding = 44%
R

eff.
 for C.I. of four years = 46.41%

So, Difference in rates = 46.41 – 44 = 2.41%

So,  Principal =
482

100
2.41

 = ` 20,000

31. (C) R
1 
 = 10%, t

1
 = 1 years

R
2
 = 

12

2
 = 6%, t

2 
= 1 × 2 = 2 half yearly(R

2
)

So,   R
eff 

= 6 + 6 + 
6 6

100


= 12.36%

Accordingly to question–
(12.36 – 10)% of money = `1888
 2.36% of money = `1888

 1% of money =
1888

2.36

100% of money =
1888

2.36
× 100

= ` 80,000
32. (C) Principal = P

Amount after 2 year = Q
Rate = R%

Calculated half yearly effective rate 
R

2

Effective time = 4 yr

So, Q = P 

4
R

1
200

..... (1)

Principal = P Amount = Q T = 2 yr
Rate = S%

Q = P

2
S

1
100

..... (2)

Eq. (1) = (2)


4 2

R S
P 1 P 1

200 100


4 2

R S
1 1

200 100

take root both side

2
R S

1 1
200 100

2
200 R 100 s

40000 100

R2 + 40000 + 400R = 40000 + 400S

R2 + 400R = 400s
Compairing both sides
So, R < S

33. (A) Rate = 20%

Time = 2 year
Yearly

           = 44%

R a t e =  1 0 %

Time = 4 year
half	Yearly

= 46.41%
Difference = 46.41% – 44% = 2.41%
Interest increased = 241

P = 
241

2.41
× 100

P = 10,000

34. (B) Amount = x Rs

x × 

2
105

100

 
 
 

– x × 
110

100

 
 
 

 = 80

half yearly CI Yearly CI

441x – 400x    =      80 × 400

x = 32000 Rs.

35. (C) Difference in CI and SI for 1 year = 324
Rate = 18% Per yearly
Rate = 9% half yearly

of 1 year = 9 + 9 + 
9 9

100


= 18.81

Require of Sum = 
324

100
0.81



= 40,000

36. (C) R
eff

 = 
5

2
+

5

2
+

5 5
2 2
100

= 5.0625%

So Interest = 
4000 5.0625

100
= ` 202.50

R
eff

 = 46.41%

So Interest = 2000×
46.41

100
= ̀  928.20

So, Total Interest = 928.20 + 202.50

                       =  ` 1130.70


